
𝑑(𝑒𝐼𝐹𝑁𝑔)
𝑑𝑡

= (𝑣𝐼𝐹𝑁𝑔𝑝𝑜𝑜𝑙 · (
[𝐼𝐹𝑁𝑔𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐹𝑁𝑔𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐹𝑁𝑔]𝑛 + 0.001
− 𝑘𝐼𝐹𝑁𝑔𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐹𝑁𝑔])) − (𝑣𝑓 · [𝑒𝐼𝐹𝑁𝑔] · [𝐼𝐹𝑁𝑔𝑅] ·

𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛

− 𝑉𝑟 · [𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]) + (𝑘1 · [𝐼𝐹𝑁𝑔]) 

𝑑(𝑒𝐼𝐿12)
𝑑𝑡

= (𝑣𝐼𝐿12𝑝𝑜𝑜𝑙 · (
[𝐼𝐿12𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿12𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿12]𝑛 + 0.001
− 𝑘𝐼𝐿12𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿12])) − (𝑣𝑓 · [𝑒𝐼𝐿12] · [𝐼𝐿12𝑅] ·

𝑘1𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘1𝑛

·
𝑘2𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘2𝑛
− 𝑉𝑟 · [𝐼𝐿12− 𝐼𝐿12𝑅]) + (𝑘1 · [𝐼𝐿12]) 

𝑑(𝑒𝐼𝐿21)
𝑑𝑡

= (𝑣𝐼𝐿21𝑝𝑜𝑜𝑙 · (
[𝐼𝐿21𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿21𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿21]𝑛 + 0.001
− 𝑘𝐼𝐿21𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿21])) − (𝑣𝑓 · [𝑒𝐼𝐿21] · [𝐼𝐿21𝑅] ·

𝑘𝑛

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛 + 𝑘𝑛
· (1

+
[𝐼𝐿17 − 𝐼𝐿17𝑅]𝑛

[𝐼𝐿17− 𝐼𝐿17𝑅]𝑛 + 𝑘1𝑛
− 𝑉𝑟 · [𝐼𝐿21− 𝐼𝐿21𝑅]) + (𝑘1 · [𝐼𝐿21]) 

𝑑(𝑒𝐼𝐿23)
𝑑𝑡

= (𝑣𝐼𝐿23𝑝𝑜𝑜𝑙 · �
[𝐼𝐿23𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿23𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿23]𝑛 + 0.001
− 𝑘𝐼𝐿23𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿23]� − ((𝑘1 · [𝑒𝐼𝐿23] − 𝑘2 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟]))  

𝑑(𝑒𝐼𝐿4)
𝑑𝑡

= (𝑣𝐼𝐿4𝑝𝑜𝑜𝑙 · (
[𝐼𝐿4𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿4𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿4]𝑛 + 0.001
− 𝑘𝐼𝐿4𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿4])) − (𝑣𝑓 · [𝑒𝐼𝐿4] · [𝐼𝐿4𝑅] ·

𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛
− 𝑉𝑟 · [𝐼𝐿4

− 𝐼𝐿4𝑅]) + (𝑘1 · [𝐼𝐿4]) 

𝑑(𝑒𝑇𝐺𝐹𝑏)
𝑑𝑡

= (𝑣𝑇𝐺𝐹𝑏𝑝𝑜𝑜𝑙 · (
[𝑇𝐺𝐹𝑏𝑝𝑜𝑜𝑙]𝑛

[𝑇𝐺𝐹𝑏𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝑇𝐺𝐹𝑏]𝑛 + 0.001
− 𝑘𝑇𝐺𝐹𝑏𝑝𝑜𝑜𝑙 · [𝑒𝑇𝐺𝐹𝑏])) − (𝑘1 · [𝑒𝑇𝐺𝐹𝑏] · [𝑇𝐺𝐹𝑏𝑅] − 𝑘2 · [𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅])

+ (𝑘1 · [𝑇𝐺𝐹𝑏]) 

𝑑(𝑒𝐼𝐿2)
𝑑𝑡

= (𝑣𝐼𝐿2𝑝𝑜𝑜𝑙 · (
[𝐼𝐿2𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿2𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿2]𝑛 + 0.001
− 𝑘𝐼𝐿2𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿2])) − (𝑘1 · [𝑒𝐼𝐿2] · [𝐼𝐿2𝑅] − 𝑘2 · [𝐼𝐿2− 𝐼𝐿2𝑅]) + (𝑘1 · [𝐼𝐿2]) 

𝑑(𝑒𝐼𝐿6)
𝑑𝑡

= (𝑣𝐼𝐿6𝑝𝑜𝑜𝑙 · (
[𝐼𝐿6𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿6𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿6]𝑛 + 0.001
− 𝑘𝐼𝐿6𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿6])) − (𝑘1 · [𝑒𝐼𝐿6] · [𝐼𝐿6𝑅] − 𝑘2 · [𝐼𝐿6− 𝐼𝐿6𝑅]) + (𝑘1 · [𝐼𝐿6]) 

𝑑(𝑒𝐼𝐿17)
𝑑𝑡

= (𝑣𝐼𝐿17𝑝𝑜𝑜𝑙 · (
[𝐼𝐿17𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿17𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿17]𝑛 + 0.001
− 𝑘𝐼𝐿17𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿17])) − (𝑘1 · [𝑒𝐼𝐿17] · [𝐼𝐿17𝑅] − 𝑘2 · [𝐼𝐿17 − 𝐼𝐿17𝑅]) + (𝑘1

· [𝐼𝐿17]) 

𝑑(𝑒𝐼𝐿10)
𝑑𝑡

= (𝑣𝐼𝐿10𝑝𝑜𝑜𝑙 · (
[𝐼𝐿10𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿10𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿10]𝑛 + 0.001
− 𝑘𝐼𝐿10𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿10])) − (𝑘1 · [𝑒𝐼𝐿10] · [𝐼𝐿10𝑅] − 𝑘2 · [𝐼𝐿10 − 𝐼𝐿10𝑅]) + (𝑘1

· [𝐼𝐿10]) 

𝑑(𝑒𝐼𝐿18)
𝑑𝑡

= (𝑣𝐼𝐿18𝑝𝑜𝑜𝑙 · (
[𝐼𝐿18𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿18𝑝𝑜𝑜𝑙]𝑛 + [𝑒𝐼𝐿18]𝑛 + 0.001
− 𝑘𝐼𝐿18𝑝𝑜𝑜𝑙 · [𝑒𝐼𝐿18])) − (𝑣𝑓 · [𝑒𝐼𝐿18] · [𝐼𝐿18𝑅] ·

𝑘𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟

· [𝐼𝐿18− 𝐼𝐿18𝑅]) + (𝑘1 · [𝐼𝐿18]) 

𝑑(𝐼𝐿6− 𝐼𝐿6𝑅)
𝑑𝑡

= (𝑘1 · [𝐼𝐿6] · [𝐼𝐿6𝑅]− 𝑘2 · [𝐼𝐿6 − 𝐼𝐿6𝑅]) 



𝑑(𝐼𝐿6𝑅)
𝑑𝑡

= −(𝑘1 · [𝑒𝐼𝐿6] · [𝐼𝐿6𝑅] − 𝑘2 · [𝐼𝐿6 − 𝐼𝐿6𝑅]) 

𝑑(𝐼𝐿6)
𝑑𝑡

= −𝑘1 · [𝐼𝐿6] 

𝑑(𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅)
𝑑𝑡

= (𝑘1 · [𝑇𝐺𝐹𝑏] · [𝑇𝐺𝐹𝑏𝑅]− 𝑘2 · [𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]) 

𝑑(𝑇𝐺𝐹𝑏𝑅)
𝑑𝑡

= −(𝑘1 · [𝑒𝑇𝐺𝐹𝑏] · [𝑇𝐺𝐹𝑏𝑅] − 𝑘2 · [𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]) 

𝑑(𝑇𝐺𝐹𝑏)
𝑑𝑡

= −𝑘1 · [𝑇𝐺𝐹𝑏] 

𝑑(𝐼𝐿2− 𝐼𝐿2𝑅)
𝑑𝑡

= (𝑘1 · [𝐼𝐿2] · [𝐼𝐿2𝑅]− 𝑘2 · [𝐼𝐿2 − 𝐼𝐿2𝑅]) 

𝑑(𝐼𝐿2𝑅)
𝑑𝑡

= −(𝑘1 · [𝑒𝐼𝐿2] · [𝐼𝐿2𝑅] − 𝑘2 · [𝐼𝐿2 − 𝐼𝐿2𝑅]) 

𝑑(𝐼𝐿2)
𝑑𝑡

= −𝑘1 · [𝐼𝐿2] 

𝑑(𝐼𝐿4− 𝐼𝐿4𝑅)
𝑑𝑡

= 𝑣𝑓 · [𝑒𝐼𝐿4] · [𝐼𝐿4𝑅] ·
𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿4− 𝐼𝐿4𝑅] 

𝑑(𝐼𝐿4𝑅)
𝑑𝑡

= −(𝑣𝑓 · [𝑒𝐼𝐿4] · [𝐼𝐿4𝑅] ·
𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿4 − 𝐼𝐿4𝑅]) 

𝑑(𝐼𝐿4)
𝑑𝑡

= −𝑘1 · [𝐼𝐿4] + (𝑣𝑓 · [𝑝𝐼𝐿4] ·
𝑘1𝑛

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑎𝑛𝑡𝑖 − 𝐼𝐿4]𝑛 + 𝑘2𝑛

· �
[𝐼𝐿4]𝑛

[𝐼𝐿4]𝑛 + 𝑘3𝑛
+

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛 + 𝑘4𝑛
+

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛 + 𝑘5𝑛�
− 𝑣𝑟 · [𝐼𝐿4]) 

𝑑(𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅)
𝑑𝑡

= 𝑣𝑓 · [𝑒𝐼𝐹𝑁𝑔] · [𝐼𝐹𝑁𝑔𝑅] ·
𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅] 

𝑑(𝐼𝐹𝑁𝑔𝑅)
𝑑𝑡

= −(𝑣𝑓 · [𝑒𝐼𝐹𝑁𝑔] · [𝐼𝐹𝑁𝑔𝑅] ·
𝑘𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]) 

𝑑(𝐼𝐿12− 𝐼𝐿12𝑅)
𝑑𝑡

=  𝑣𝑓 · [𝑒𝐼𝐿12] · [𝐼𝐿12𝑅] ·
𝑘1𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘2𝑛
− 𝑣𝑟 · [𝐼𝐿12 − 𝐼𝐿12𝑅] 

𝑑(𝐼𝐿12𝑅)
𝑑𝑡

= −(𝑣𝑓 · [𝑒𝐼𝐿12] · [𝐼𝐿12𝑅] ·
𝑘1𝑛

[𝑆𝑇𝐴𝑇6− 𝑃]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘2𝑛
− 𝑣𝑟 · [𝐼𝐿12 − 𝐼𝐿12𝑅]) 

𝑑(𝐼𝐿12)
𝑑𝑡

= −𝑘1 · [𝐼𝐿12] 



𝑑(𝐼𝐿18− 𝐼𝐿18𝑅)
𝑑𝑡

=  𝑣𝑓 · [𝑒𝐼𝐿18] · [𝐼𝐿18𝑅] ·
𝑘𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿18 − 𝐼𝐿18𝑅] 

𝑑(𝐼𝐿18𝑅)
𝑑𝑡

= −(𝑣𝑓 · [𝑒𝐼𝐿18] · [𝐼𝐿18𝑅] ·
𝑘𝑛

[𝑆𝑇𝐴𝑇6− 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿18 − 𝐼𝐿18𝑅]) 

𝑑(𝐼𝐿18)
𝑑𝑡

= −𝑘1 · [𝐼𝐿18] 

𝑑(𝐼𝐿21− 𝐼𝐿21𝑅)
𝑑𝑡

=  𝑣𝑓 · [𝑒𝐼𝐿18] · [𝐼𝐿18𝑅] ·
𝑘𝑛

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛 + 𝑘𝑛
· (1 +

[𝐼𝐿17 − 𝐼𝐿17𝑅]𝑛

[𝐼𝐿17 − 𝐼𝐿17𝑅]𝑛 + 𝑘1𝑛
− 𝑣𝑟 · [𝐼𝐿21 − 𝐼𝐿21𝑅] 

𝑑(𝐼𝐿12𝑅)
𝑑𝑡

= −(𝑣𝑓 · [𝑒𝐼𝐿18] · [𝐼𝐿18𝑅] ·
𝑘𝑛

[𝑆𝑇𝐴𝑇5− 𝑃]𝑛 + 𝑘𝑛
· (1 +

[𝐼𝐿17 − 𝐼𝐿17𝑅]𝑛

[𝐼𝐿17 − 𝐼𝐿17𝑅]𝑛 + 𝑘1𝑛
− 𝑣𝑟 · [𝐼𝐿21− 𝐼𝐿21𝑅]) 

𝑑(𝐼𝐿21)
𝑑𝑡

= −𝑘1 · [𝐼𝐿21] + (𝑣𝑓 · [𝑝𝐼𝐿21] · �1 +
[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘𝑛�
− 𝑣𝑟 · [𝐼𝐿21]) 

𝑑(𝐼𝐿23𝑅)
𝑑𝑡

=  −𝑣𝑓 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟] · [𝐼𝐿23𝑅] ·
𝑘𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿23 − 𝐼𝐿23𝑅] 

𝑑(𝐼𝐿23− 𝐼𝐿23𝑅)
𝑑𝑡

= 𝑣𝑓 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟] · [𝐼𝐿23𝑅] ·
𝑘𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿23− 𝐼𝐿23𝑅] 

𝑑(𝐼𝐿10𝑅)
𝑑𝑡

=  −(𝑘1 · [𝑒𝐼𝐿10] · [𝐼𝐿10𝑅]− 𝑘2 · [𝐼𝐿10 − 𝐼𝐿10𝑅]) 

𝑑(𝐼𝐿10− 𝐼𝐿10𝑅)
𝑑𝑡

= 𝑘1 · [𝑒𝐼𝐿10] · [𝐼𝐿10𝑅]− 𝑘2 · [𝐼𝐿10 − 𝐼𝐿10𝑅] 

𝑑(𝐼𝑅𝐴𝐾1− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝐼𝑅𝐴𝐾1] · �1 +
[𝐼𝐿18− 𝐼𝐿18𝑅]𝑛

[𝐼𝐿18 − 𝐼𝐿18𝑅]𝑛 + 𝑘𝑛�
− 𝑣𝑟 · [𝐼𝑅𝐴𝐾1− 𝑃]) 

d(p50p65dimer)
dt

=vf·[p50]·[p65]·
k1n

[L-PPARg]n+k1n ·
k2n

[aFOXP3]n+k2n ·�1+
[IRAK1-P]n

[IRAK1-P]n+k3n� -vr·[p50p65dimer]) 

𝑑(𝑆𝑇𝐴𝑇4− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑇𝐴𝑇4] ·
𝑘1𝑛

[𝐼𝐿21 − 𝐼𝐿21𝑅]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛 + 𝑘2𝑛
· �

[𝐼𝐿12 − 𝐼𝐿12𝑅]𝑛

[𝐼𝐿12− 𝐼𝐿12𝑅]𝑛 + 𝑘3𝑛
+

[𝐼𝐿23− 𝐼𝐿23𝑅]𝑛

[𝐼𝐿23− 𝐼𝐿23𝑅]𝑛 + 𝑘4𝑛�
− 𝑣𝑟

· [𝑆𝑇𝐴𝑇4 − 𝑃]) 

𝑑(𝐼𝐹𝑁𝑔)
𝑑𝑡

= −𝑘1 · [𝐼𝐹𝑁𝑔] + 𝑣𝑓 · [𝑝𝐼𝐹𝑁𝑔] ·
𝑘1𝑛

[𝑎𝑛𝑡𝑖 − 𝐼𝐹𝑁𝑔]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘2𝑛
·

𝑘3𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘3𝑛

· �
[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛 + 𝑘4𝑛
+

[𝑝50𝑝65𝑑𝑖𝑚𝑒𝑟]𝑛

[𝑝50𝑝65𝑑𝑖𝑚𝑒𝑟]𝑛 + 𝑘5𝑛
+

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘6𝑛�
− 𝑣𝑟 · [𝐼𝐹𝑁𝑔]) 

𝑑(𝐽𝐴𝐾1− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝐽𝐴𝐾1] ·
𝑘1𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]𝑛 + 𝑘2𝑛
· �

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛 + 𝑘3𝑛�
− 𝑣𝑟 · [𝐽𝐴𝐾1− 𝑃]) 



𝑑(𝑆𝑇𝐴𝑇1− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑇𝐴𝑇1] ·
𝑘𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘𝑛
· �

[𝐼𝐿21− 𝐼𝐿21𝑅]𝑛

[𝐼𝐿21 − 𝐼𝐿21𝑅]𝑛 + 𝑘1𝑛
+

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛 + 𝑘2𝑛
+

[𝐽𝐴𝐾1− 𝑃]𝑛

[𝐽𝐴𝐾1 − 𝑃]𝑛 + 𝑘3𝑛�
− 𝑣𝑟

· [𝑆𝑇𝐴𝑇1 − 𝑃]) 

𝑑(𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟)
𝑑𝑡

= 𝑘1 · [𝑒𝐼𝐿23] − 𝑘2 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟] − �𝑣𝑓 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟] · [𝐼𝐿23𝑅] ·
𝑘𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘𝑛
− 𝑣𝑟 · [𝐼𝐿23 − 𝐼𝐿23𝑅]�

+ 𝑣𝑓 · [𝑝40] · [𝑝19] ·
𝑘𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘𝑛
· �1 +

[𝐼𝐿6 − 𝐼𝐿6𝑅]𝑛

[𝐼𝐿6− 𝐼𝐿6𝑅]𝑛 + 𝑘1𝑛�
− 𝑣𝑟 · [𝑝40𝑝19𝑑𝑖𝑚𝑒𝑟]) 

𝑑(𝐼𝐿17)
𝑑𝑡

= −𝑘1 · [𝐼𝐿17]

+ �𝑣𝑓 · [𝑝𝐼𝐿17] ·
𝑘𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘𝑛
· (

[𝐼𝐿23− 𝐼𝐿23𝑅]𝑛

[𝐼𝐿23− 𝐼𝐿23𝑅]𝑛 + 𝑘1𝑛
+

[𝑅𝑂𝑅𝑔𝑡𝐿]𝑛

[𝑅𝑂𝑅𝑔𝑡𝐿]𝑛 + 𝑘2𝑛
+

[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛 + 𝑘3𝑛
− 𝑣𝑟

· [𝐼𝐿17]� + (𝑣𝐼𝐿17𝑝𝑜𝑜𝑙 · (
[𝐼𝐿17𝑝𝑜𝑜𝑙]𝑛

[𝐼𝐿17𝑝𝑜𝑜𝑙]𝑛 + [𝐼𝐿17]𝑛 + 0.001
− 𝑘𝐼𝐿17𝑝𝑜𝑜𝑙 · [𝐼𝐿17])) 

𝑑(𝐼𝐿10)
𝑑𝑡

= −𝑘1 · [𝐼𝐿10] + 𝑣𝑓 · [𝑝𝐼𝐿10] ·
𝑘𝑛

[𝐼𝐿23 − 𝐼𝐿23𝑅]𝑛 + 𝑘𝑛

· �
[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘1𝑛
+

[𝐼𝐿21− 𝐼𝐿21𝑅]𝑛

[𝐼𝐿21 − 𝐼𝐿21𝑅]𝑛 + 𝑘2𝑛
+

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛 + 𝑘3𝑛
+

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛 + 𝑘4𝑛�
− 𝑣𝑟 · [𝐼𝐿10]) 

𝑑(𝑅𝑂𝑅𝑔𝑡𝐿)
𝑑𝑡

= 𝑣𝑓 · [𝑅𝑂𝑅𝑔𝑡] ·
𝑘1𝑛

[𝑎𝐹𝑂𝑋𝑃3]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘2𝑛
· �

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘3𝑛
+

[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛

[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛 + 𝑘4𝑛�
− 𝑣𝑟

· [𝑅𝑂𝑅𝑔𝑡𝐿]) 

𝑑(𝑆𝑇𝐴𝑇3− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑇𝐴𝑇3] ·
𝑘𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘𝑛

· �
[𝐼𝐿21 − 𝐼𝐿21𝑅]𝑛

[𝐼𝐿21 − 𝐼𝐿21𝑅]𝑛 + 𝑘1𝑛
+

[𝐼𝐿23 − 𝐼𝐿23𝑅]𝑛

[𝐼𝐿23− 𝐼𝐿23𝑅]𝑛 + 𝑘2𝑛
+

[𝐼𝐿10− 𝐼𝐿10𝑅]𝑛

[𝐼𝐿10− 𝐼𝐿10𝑅]𝑛 + 𝑘3𝑛
+

[𝐼𝐿6− 𝐼𝐿6𝑅]𝑛

[𝐼𝐿6 − 𝐼𝐿6𝑅]𝑛 + 𝑘4𝑛�
− 𝑣𝑟

· [𝑆𝑇𝐴𝑇3 − 𝑃]) 

𝑑(𝑆𝑇𝐴𝑇5− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑇𝐴𝑇5] · �1 +
[𝐼𝐿2 − 𝐼𝐿2𝑅]𝑛

[𝐼𝐿2 − 𝐼𝐿2𝑅]𝑛 + 𝑘𝑛�
− 𝑣𝑟 · [𝑆𝑇𝐴𝑇5 − 𝑃]) 

𝑑(𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑂𝐶𝑆1] · �
[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛 + 𝑘1𝑛
·

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘2𝑛�
− 𝑣𝑟 · [𝑆𝑂𝐶𝑆1 − 𝐽𝐴𝐾𝑠]) 

𝑑(𝑇𝑏𝑒𝑡 − 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑇𝑏𝑒𝑡] ·
𝑘1𝑛

[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘2𝑛

· �
[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇4 − 𝑃]𝑛 + 𝑘3𝑛
+

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛 + 𝑘4𝑛
+

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛

[𝑇𝑏𝑒𝑡 − 𝑃]𝑛 + 𝑘5𝑛�
− 𝑣𝑟 · [𝑇𝑏𝑒𝑡 − 𝑃]) 



𝑑(𝐺𝐴𝑇𝐴3− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝐺𝐴𝑇𝐴3] ·
𝑘1𝑛

[𝐺𝐴𝑇𝐴3 − 𝑃]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘2𝑛
·

𝑘3𝑛

[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛 + 𝑘3𝑛

· �
[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘4𝑛
+

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘5𝑛�
− 𝑣𝑟 · [𝐺𝐴𝑇𝐴3 − 𝑃]) 

𝑑(𝑆𝑇𝐴𝑇6− 𝑃)
𝑑𝑡

= 𝑣𝑓 · [𝑆𝑇𝐴𝑇6] ·
𝑘𝑛

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛 + 𝑘𝑛
·

[𝐼𝐿4 − 𝐼𝐿4𝑅]𝑛

[𝐼𝐿4 − 𝐼𝐿4𝑅]𝑛 + 𝑘1𝑛
− 𝑣𝑟 · [𝑆𝑇𝐴𝑇6 − 𝑃]) 

𝑑(𝑃𝑃𝐴𝑅𝑔)
𝑑𝑡

= −𝑣𝑓 · [𝑃𝑃𝐴𝑅𝑔] · [𝐿𝑖𝑔𝑎𝑛𝑑] ·
𝑘𝑛

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛 + 𝑘𝑛
· (1 +

[𝐼𝐿4 − 𝐼𝐿4𝑅]𝑛

[𝐼𝐿4 − 𝐼𝐿4𝑅]𝑛 + 𝑘1𝑛
) − 𝑣𝑟 · [𝐿 − 𝑃𝑃𝐴𝑅𝑔]) 

𝑑(𝐿 − 𝑃𝑃𝐴𝑅𝑔)
𝑑𝑡

= 𝑣𝑓 · [𝑃𝑃𝐴𝑅𝑔] · [𝐿𝑖𝑔𝑎𝑛𝑑] ·
𝑘𝑛

[𝐼𝐹𝑁𝑔 − 𝐼𝐹𝑁𝑔𝑅]𝑛 + 𝑘𝑛
· (1 +

[𝐼𝐿4− 𝐼𝐿4𝑅]𝑛

[𝐼𝐿4 − 𝐼𝐿4𝑅]𝑛 + 𝑘1𝑛
)− 𝑣𝑟 · [𝐿 − 𝑃𝑃𝐴𝑅𝑔]) 

𝑑(𝑎𝐹𝑂𝑋𝑃3)
𝑑𝑡

= 𝑣𝑓 · [𝐹𝑂𝑋𝑃3] ·
𝑘1𝑛

[𝑆𝑇𝐴𝑇6 − 𝑃]𝑛 + 𝑘1𝑛
·

𝑘2𝑛

[𝑆𝑇𝐴𝑇3 − 𝑃]𝑛 + 𝑘2𝑛
·

𝑘3𝑛

[𝐼𝐿6 − 𝐼𝐿6𝑅]𝑛 + 𝑘3𝑛

· �
[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛

[𝑇𝐺𝐹𝑏 − 𝑇𝐺𝐹𝑏𝑅]𝑛 + 𝑘4𝑛
+

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇1 − 𝑃]𝑛 + 𝑘5𝑛
+

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛

[𝑆𝑇𝐴𝑇5 − 𝑃]𝑛 + 𝑘6𝑛
+

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛

[𝐿 − 𝑃𝑃𝐴𝑅𝑔]𝑛 + 𝑘7𝑛�
− 𝑣𝑟

· [𝑎𝐹𝑂𝑋𝑃3]) 

𝑑(𝐼𝐿17𝑅)
𝑑𝑡

=  −(𝑘1 · [𝑒𝐼𝐿17] · [𝐼𝐿17𝑅]− 𝑘2 · [𝐼𝐿17 − 𝐼𝐿17𝑅]) 

𝑑(𝐼𝐿17− 𝐼𝐿17𝑅)
𝑑𝑡

=  𝑘1 · [𝑒𝐼𝐿17] · [𝐼𝐿17𝑅] − 𝑘2 · [𝐼𝐿17− 𝐼𝐿17𝑅] 

𝐹𝑂𝑋𝑃3𝑅 =
[𝑎𝐹𝑂𝑋𝑃3]

[𝐵𝐴𝑐𝑡𝑖𝑛]. 𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑉𝑎𝑙𝑢𝑒
 

𝐼𝐿17𝑅 =
[𝐼𝐿17]

[𝐵𝐴𝑐𝑡𝑖𝑛]. 𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑉𝑎𝑙𝑢𝑒
 

 


